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A. car causes pollution only in some cities.
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B. 60% of the cities are affected by car pollution.

C. car is the main contributing factor in polluting air.

D. 90% of the city residents suffer from car pollution.
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LISTENING COMPREHENSION (TEM8—1996)
In Sections A, B and C you will hear everything once only . Listen carefully and then answer the
questions that follow .

=]

=

—

En

== SECTION A TALK
Questions 1 to 5 refer to the talk in this section . At the end of the talk you will be given 15 sec-
onds to answer each of the following questions . Now listen to the talk .
1. The speaker thinks that
A. car causes pollution only in some cities.
B. 60% of the cities are affected by car pollution.
C. 90% of the city residents suffer from car pollution.
D. car is the main contributing factor in polluting air.
2. Which of the following is NOT mentioned as a cause of car pollution?
A. Car tyres. B. Car engines. C. Car homs. D. Car brakes.
3. Which of the following is NOT cited as a means to reduce the number of cars?
A. To pass laws to control the use of cars.
B. To improve public transport systems.
C. To increase car tax and car price.
D. To construct effective subway systems.
4. One of the mechanical solutions to car pollution is
A. to change the chemical structure of fuel.

e
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B. to improve the exhaust pipe.
C. to experiment with new engines.
D. to monitor the amount of chemicals.
5. According to the speaker, a sensible way to solve car pollution is that we should
A. focus on one method only.
B. explore some other alternatives.
C. improve one of the four methods.
D. integrate all of the four methods.

SECTION B INTERVIEW
Questions 6 to 10 are based on an interview with an architect . At the end of the interview you
will be given 15 seconds to answer each of the following questions . Now listen to the interview .
6. The interviewee’s first job was with

A. a newspaper. B. the government

C. a construction firm. D. a private company.
7. The interviewee is not self-employed mainly because

A. his wife likes him to work for a firm.

B. he prefers working for the government.

C. self-employed work is very demanding.

D. self-employed work is sometimes insecure.
8. To study architecture in a university one must

A. be interested in arts.

B. study pure science first.

C. get good exam results.

D. be good at drawing.
9. On the subject of drawing the interviewee says that

A. technically speaking artists draw very well.

B. an artist’s drawing differs little from an architect’s.

C. precision is a vital skill for the architect.

D. architects must be natural artists.
10. The interviewee says that the job of an architect is

A. more theoretical than practical .

B. to produce sturdy, well-designed buildings.

C. more practical than theoretical .

D. to produce attractive, interesting buildings.
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SECTION C NEWS BROADCAST
Questions 11 & 12 are based on the following news . At the end of the news item, you will be
given 30 seconds to answer the questions. Now listen to the news .
11. The man was convicted for

A. dishonesty. B. manslaughter.

C. murder. D. having a gun.
12. Which of the following is TRUE?

A. Mark Eastwood had a license for a revolver.

B. Mark Eastwood loved to go to noisy parties.

C. Mark Eastwood smashed the window of a house.

D. Mark Eastwood had a record.

]
1
)

fiE
ke
pry Questions 13 to 15 are based on the following news . At the end of the news item , you will be
15 given 45 seconds to answer the questions . Now listen to the news .
\%:, 13. How many missing American servicemen have been positively confirmed dead in Vietnam so
VAN far?
23]
A. 67. B. 280. C. 84. D. 1648.

i

J

14. According to the search operation commander, the recovery of the missing Americans is sl-

owed down because

A. the weather conditions are unfavourable.

B. the necessary documents are unavailable.
C. the sites are inaccessible.
D. some local people are greedy.
15. According to the news, Vietnam may be willing to help America mainly because of
A. its changed policy towards America.
B. recent international pressure.
C. its desire to have the US trade embargo lifted.
D. the impending visit by a senior US military officer.

SECTION D NOTE-TAKING & GAP-FILLING

In this section you will hear a mini-lecture . You will hear the lecture ONCE ONLY . While lis-
tening to the lecture , take notes on the important points . Your notes will not be marked , but you
will need them to complete a 15-minute gap-filling task after the mini-lecture. Use the blank
paper for note-taking .

Fill in each of the gaps with ONE suitable word . You may refer to your notes. Make sure the
word you fill in is both grammatically and semantically acceptable .

o
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LAND USE
A problem related to the competition for land use is whether
crops should be used to produce food or fuel. (1)  areas (1)
will be examined in this respect. Firstly, the problem should be
viewed in its _ (2)  perspective. When oil prices rose (2)
sharply in the 1970s, countries had to look for alternatives to
solve the resulting crisis.

In developing countries, one of the possible answers to it is to

produce alcohol from _ (3)  material. This has led to a lot 3
of research in this area particularly in the use of (4) . 4
The use of this material resulted from two economic reasons: a

(5) inits price and low __ (6)  costs. sy
There are other starchy plants that can be used to produce alcohol, 6
Like the sweet _ (7)  or other cassava plants in tropical @
regions, and _ (8)  and sugar-beet in non-tropical regions. (8)

The problem with these plants is that they are also the people’s
staple food in many poor countries.
Therefore, farmers there are faced with a choice : crops for food
or for fuel. And farmers naturally go for what is more _ (9) . (9)
As a result, the problems involved are economic in nature, rather than
technological . This is my second area under consideration. Finally,
there have already been practical applications of using alcohol for fuel.
Basically, they come in two forms of use: pure alcohol as is the case in

(10) , and a combination of alcohol and gasoline known as gasohol (10)

in Germany .
(2)

LISTENING COMPREHENSION (TEMS - 1997)
In Sections A, B and C you will hear everything ONCE ONLY . Listen carefully and then answer
the questions that follow . Mark the correct response for each question .

SECTION A TALK

Questions 1 to 5 refer to the talk in this section . At the end of the talk you will be gwen 15 sec-
onds to answer each of the following questions . Now listen to the talk .

1. In the Black Forest, the acid rain is said to attack all EXCEPT
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A. firs. B. metals. C. leaves. D. soil.
2. The percentage of fir dying in the Black Forest is
A 41%. B. 43%. C. 26%. D. 76%.

3. Germany is tackling part of the problem by introducing
A. new car designing schemes.
B. new car production lines.
C. a new type of smoke stacks.
D. new car safety standards.
4. Which of the following statements is INCORRECT ?
A. Gemmany is likely to succeed in persuading her neighbours to reduce acid rain.

B. The disastrous effects of acid rain are not confined to one area.
C. German tourists are allowed to drive across their neighbours’ borders.

]
]
1

ol

D. Germany’s neighbours are in favour of the use of lead-free petrol.

._.,
Pl

5. On the issue of future solution of acid rain, the speaker’s tone is that of

At

A. waming. B. pessimism. C. indifference. D. optimism.

T~ =
SIS

SECTION B INTERVIEW
Questions 6 to 10 are based on an interview . At the end of the interview you will be given 15

o
=

seconds to answer each of the following questions. Now listen to the interview .
6. What subject is Mr. Pitt good at?

A. An. B. French C. German D. Chemistry
7. What does Mr. Pitt NOT do in his spare time?

A. Doing a bit of acting and photography .

i

B

B. Going to concerts frequently.
C. Playing traditional jazz and folk music.
D. Travelling in Europe by hitch-hiking.
8. When asked what a manager’s role is, Mr. Pitt sounds
A. confident. B. hesitant. C. resolute. D. doubtful.
9. What does Mr. Pitt say he would like to be?
A. An export salesman working overseas.
B. An accountant working in the company.
C. A production manager in a branch.
D. A policy maker in the company.
10. Which of the following statements about the management trainee scheme is TRUE ?
A. Trainees are required to sign contracts initially.
B. Trainees’ performance is evaluated when necessary.
C. Trainees’ starting salary is 870 pounds.

4
i
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D. Trainees cannot quit the management scheme.

SECTION C NEWS BROADCAST
Question 11 is based on the following news. At the end of the news item , you will be given 15
seconds to answer the question . Now listen to the news .
11. Which of the following statements is TRUE?

A. Five gunmen were flown to Iran in a helicopter.

B. Most of the ransom was retrieved in the end.
C. The children were held for five days.
D.

The authorities have passed sentence on the gunmen.

Question 12 is based on the following news . At the end of the news item , you will be given 15
seconds to answer the question . Now listen to the news .
12. According to the news, American troops in Panama

A. were attacked at refugee camps.

B. were angry at delays in departure.

C. attacked Cuban refugee camps last week.

D. will be increased to 2,000.

Question 13 is based on the following news. At the end of the news item, you will be given 15
seconds to answer the question . Now listen to the news .
13. Which of the following statements is CORRECT? U. S. lawmakers

A. challenged the accord for freezing Pyongyang’s nuclear programme .

B. required the inspection of Pyongyang’s nuclear site for at least five years.
C. were worried that North Korea may take advantage of the concessions.
D.

blamed the U. S. negotiator for making no compromises with North Korea.

Questions 14 & 15 are based on the following news . At the end of the news item, vou will be
given 30 seconds to answer the questions. Now listen to the news .
14. According to the news, the ltalian Parliament was asked to act by
A. the U.N. B. the Red Cross.
C. the Defence Minister. D. the Swedish Government.
15. On the issue of limited use of land mines, the Italian Parliament is

A. noncommittal . B. resolute. C. unsupportive. D. wavering.

SECTION D NOTE-TAKING AND GAP-FILLING
In this section you will hear a mini-lecture . You will hear the lecture ONCE ONLY . While lis-
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tening to the lecture , take notes on the important points . Your notes will not be marked , but you
will need them to complete a 15-minute gap-filling task after the mini-lecture . Use the blank
paper for note-taking .

Fill in each of the gaps with ONE word . You may refer to your notes. Make sure the word you
Sfill in is both grammatically and semantically acceptable .
In business, many places adopt a credit system, which dates back to

ancient times. At present, purchases can be made by using credit cards.

by professional people like dentists, etc.

They fall into two categories: one has _ (1)  use, while the other (n__
is accepted almost everywhere. The application for the use of the latter
r=—-  one must be made at a (2) . Once the customer starts using 2
E 18 the card, he will be provided with a monthly statement of _ (3) (3)
i _ . . -
‘g by the credit company. He is required to pay one quarter to half of
E 53 E his credit _ (4)  every month. 4)
i i}/ E Advantages. 1. With a card, it is not _ (5) to save up money before (5)
‘I :. an actual purchase. 2. If the card is lost, its owner is protected.
E' :DWI!\}I E 3. A _(6) and complete list of purchase received from the credit 6)
E ﬁt {  company helps the owner to remember the time and __ (7) ™
E I: of his purchase. 4. The cards are accepted in a(n) _ (8) 8

- Major disadvantage. The card owner is tempted to _ (9)  his money. (9)

If this is the case, it will become increasingly difficult for the user to
keep up with the required __ (10) , which will result in the credit card (10)
being cancelled by the credit company .

ERBRYTER
(1)

LISTENING COMPREHENSION (TEMS8 - 1996 )

SECTION A

1.D 2. C 3.A 4. B 5.D
SECTION B

6. B 7.D 8. C 9.C 10. B
SECTION C

11. B 12. D 13. B 14. D 15. C
SECTION D

1. Three/3 2. historical 3. plant /agricultural 4. sugar
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